&2
[12#17 7H?F Jiﬁ\ﬁ ?jZ‘_g_ %7 ‘_"—!L f‘T']“i‘ﬂjz\»

H >

L S S i T R R R % 2P HEEE  RELIE 3L

112217 1p 2

P AEFERTEFEIEZT T T g SRy ) SERM AT 90, 000
=3 v oy F lL%’ W g 112£12% 31 p % <
ERp  ARFERIFPEIEL 2T HE TG o4de [112&#1710p DERRE 98, 000

1128 &3 g~ L ~ o %
EFE P g EEp

112#1%1p 2

£ ¥ B
R gs110 21

SEM%E | 498,960

B
3
A

=3 = 5) > J - 112'&1};155\- — %2> 1%
B2 X2 T G 454 119127 3 1 ¥ 45 B 25 40, 000

1 ﬂ‘%l’?‘ﬁ?ﬁﬁé’-%fﬂ}‘ ]%;L%%,m—ﬁ:, JlffﬂP;f’%/;~JI%£ :r-zl*;_%-;i@z\ﬁa]%]
2. NAFE R A BM S O FE2 P INERKEE > o




